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1- Choose the correct answer. (12x1=12) _Jg,;,,,/;v,,z.:,,, -1
L. The branch of chemistry that deals with the study of _%ngwgﬁ,{,g@uﬁ@@@,,‘j&;{ 1
hydrocarbons:
Biochemistry (§ <7, (B) Inorganic Chemistry 6/'“5:@"01 (A)
Organic Chemistry dﬁ{_ﬁﬁf (D) Industrial Chemistry d/'{/d:;,m ©
2. No. of electrons can be placed in "p" sub-shell: _ujét—ul}?uuﬁgfﬁ/ "p" 2
8 (D) 6 (O 4 (B) 1T (A
3. The general electronic configuration of noble gases is: _f_ﬁﬁu@}?!dr‘u}»fdi 3
ns’npS (D) ns’np° (C) ns’np* (B) ns*np® (A)
4. The atomic Radii of the elements in periodic table: ;Ui;tjumé/oc;u:dﬁ"u@w 4
Do not change from left to right in a period _2 % f 4 e iUt i sl (A)
Decrease from top to bottom in a group _wl_ﬁ(é,;,{'}lu:?d/b»{' (B)
Increase from left to right in a period _ sz e i ta szl (C)
Increase from top to bottom in a group _w"&gég/?,tu:,’df.{n (D)
5. Which oneis an ionic compound? fe b Ty 3
BF3 (p NaCl (C) CH* (B) HCl (A)
6. The melting point of sodium chloride (NaCl) is: e 2y LEE(NaCDLLF s O
600°C (D) 800°C (©) 1000°C (B) 1200°C (A)
7. Absolute temperature scale was introduced by: _UZ&!;/J/LOJZC;/.,}&QKJ 7
Kelvin o (D) Henry ¢4 () Boil fiy (B) Charles u’% (A)
8. The simplest way to distinguish between solution and e 3 ol KL S F R B 8
pure liquid is: . 5
Halogenration u“/."f,lg (D) Hydration *,x, (C)  Distillation ‘}:?)“5 (B) Evaporation ﬁ/{%' (A)
9. Which of the following shows tyndall effect? St e BIUEUS = tS e 9
Solid mixture ﬁ’u,ﬁf (D) Colloid xyy” (C) . Suspension ‘f‘~/ (B) Solution f4& (A)
10. A specie that reudces a substance by donating electrons :LQVMLQV/J;"%//GJ'/.}/'Q;(&Lu’(j{&)u 10
to it is called:
Reducing Agent o Ey%, (B) Oxidizing Agent _5;/{;_,67’1;”/;’ (A)
Dehydrating Agent 41 2,455 (D) Colouring Agent »:5_(% (C)
1. pure water is an example of: :‘gdﬁ&gu“'l} 11
Strong electrolyte .2y, 21,5 (B) Weak electrolyte 2y, 81,54 (A)
Strong base _£,# (D) Strong acid 5% (Q)
12. Halogens belong to group: ?‘LL?AIJJ‘;K%}&Z 12
17 (D) 18 (Q) 16 (B) 15 (A)
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(Part-1 -Jsl..«)
2- Answer the short questions. (5x2=10) _‘IJ@U‘@/&'?L.;,UVJ’;@” -2
i Differentiate between gram atomic mass and gram _szf1,/J}£JL),:?LIIJJ,UL,(L*I(J i
molecular mass.
ii. How many atoms are present in 16 g of O and 8 g of S? ?ﬁu,@.‘:ﬂzfu:(S))%rlf&mj(O)g?jl’(!fl6 i
iii. Why Max Plank awarded with Noble prize? ?l:ﬁﬂjg'//%d};u{/uﬂ&u/? i
iv.  Write two isotopes of Uranium and Chlorine. -éﬁ}%iﬁﬁm&@ﬁyﬁ%{ iv
v. Why it is difficult to remove an electron from Halogens? ?Lau{ﬂ%fw}"gtguﬁj—ﬁ;& v
3- Answer the short questions. (5x2=10) _d,;,y 2 /"f [_,;,m,«d: St -3
i Why chlorine can accept 1 electron? ?Lgu[/.kggé./‘}?u,}?ﬂ_j/@,% i
ii.  Write any two properties of coordinate covalent J&VQE‘/,,LJ[JJ:C,’&KQ,/%LT/ i
compounds.
iii.  Differentiate between crystalline and amorphous solid. -q/ul;ﬁ/'ukwix/!;ufu‘/ﬁmj’ua i
iv.  In which form sulphur exist at 100°C? ety Al 000 Y
V. What is meant by Solid-liquid solution? Explain with _ééu,;‘)w%mw%éwﬁ v
example.
4- Answer the short questions. (5x2=10) _J,_»,U 2 /"f L,:,Ul,r‘)‘: St -4
i Explain (% m/v) Mass/Volume Solution with one _Q/yu,aJDVQJJ’P(fu/JL (miv %)
example.
ii.  Inthe following reaction, how can you justify that HzS is @nﬂ;k/Jsozj,uﬁgf@JHQs,ﬂj./_n,.wé/.{fﬁﬂld/‘j”,’@/) i
oxidized and SO is reduced? fe
SO+ — 2H50 + 35> "
m.  What is by-products are produced in Down's cell? ?Lg‘ffw,/véwui.m&utdf'j;r; -
iv.  Write two uses of Silver. -“&{JL&I”L/}’ Av
v. v

Write any two chemical properties of non-metals.

-Q/{}oyﬁ?&wm;éfd/ﬁful.

(Part-IT ..r”.«l’)

Attempt given long questions.

5(a)

(b)

6(a)

(b)

Define di-pole di-pole interaction and explain it with an
example.

The largest moon of Saturn, is Titan. It has atmospheric
pressure of 1.6x10° Pa. What is the atmospheric
pressure in atm? It it higher than earth's atmospheric
pressure?

When 20 gram of NaCl is present in 400 cm® of solution.
What will be its molarity?

Write down the construction and working of Nelson's
cell in detail.

(2x9=18)

..£ _,de’fg ﬁaﬂird_:’(w

oA L mg oy F S pUdlsds @5

Ao < (Titan)F il e 4(Saturny = (b)

Cemlie 2 HIKIUE atmoe 1.6x10° 24

v&m ArS i f J;wgﬁfr 20gram s+ 400 em®/1 (2)6

‘u./ug«.a’viM"/K.Q}K(K/ﬂwmfdfﬁ )
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